4.2 Special Products.notebook

Expand and simplify each of the following.

a) (3x+ 2)(x-2)

= 30 (o 2n - 4
= g,*.?\q’x“q

Quiz!

b) (4 + 3x)(-3 + 2x)
=~ - +bx?
:_'é_)?(%/)(—-/l

November 03, 2015

c) -2(3x - 3)(2x + 4)

- ‘2(692/24-(0’3\"‘/1)
= 1|2+ 24
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Special Binomials [NOTE
Use any representation to investigate the
following. Can you find any patterns? ———

(-2 = X% —Yoys
(x+37 =X by T
Bx+1P = TP bx |
(2x-5)2 = Hy"-20,+25
(ax+y)2 = [bx*+ By {\gﬁ

Each is a...
Perfect Square Trinomial gﬁ
(a+b)2=2a%+2ab + b?
(a-b)>=a?-2ab + b?
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Pate

sk R
(x - 3)(x + 3) Do it again! (2»;+ 5?)(2y—5)
=X %ﬁ‘% = 1y ° 2%
- ? (3x + 2b)(3x - 2b)
(x +4)(x - 4) = - :
_“’f/‘,?-/(o . uf— ?X - %l

Eachis a...

Difference of Squares! i
(a+b)(a-b)=a2-
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Ex. 1 Expand and simplify each of the following.

a) (x-3)(x+3)+(2x-5)2
=X + Yl 20x+25
= SWZ-Q\O’X +H

b) (3x + 7) - (2x - 1)(2x + 1) m

=Tyt 2y 199 — (251
:73(2*%3\,)(1\%6{ ~Yn 4|
:S/XP-(- L"lq«-k gb
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FBOHL
Poage 225

Basic: 3agh, 5cef
Regular: 4abd, 6adf, 11, 12, 16
Challenge: 19b



